
FAIRMONT METAL PATIO DINING BENCH 
 
Congratulations on your latest Target purchase. 
 

Now what? Don’t start sweating over this box of parts. This will be easy. We did the hard work 
for you. All you need to do is follow our simple instructions and you’ll be on your way to 
transforming your room in no time.  
 
Good luck – though we’re confident you won’t need it. 
 
Before you begin 
Check for damaged or missing parts. Call 1-800-MYTGTHOME (855-698-4846) to order 
missing supplies. 

Use the carton as a working surface to prevent product damage during assembly. 
Gather all tools prior to assembly. 
 
- 1 year limited manufacturer warranty 

- Wipe clean with damp cloth 
 
DISCLAIMER: This video incorporates the instructions provided by the manufacturer with this product. 
Target will not be liable for any damage or injury based on your reliance on the content provided.  
 
The hardware parts for assembly is labeled below 
The M6 washers are labeled as (D) x 8. 
The M6x35 bolts are labeled as (E) x 8. 

The lock washers are labeled as (F) x 8. 
The socket wrench is labeled as (G) x 1. 

 
The assembly parts are labeled alphabetically for ease 
The two bench legs are labeled as A. 

The seat panel is labeled as B. 
The seat cushion is labeled as C. 
 
STEP 1: 

Place the seat panel (B) on a soft, flat non-abrasive surface. 
Attach bench leg (A) to seat panel (B), using the M6*35 bolts (E), lock washer(F) and M6 
washers (D). 
Please ensure all the bolts are assembled correctly. Tighten all the bolts (E) with the socket 

wrench (G). 
 
STEP 2: 
Turn the bench upright. 

Place the seat cushion(C) onto the bench. 
 
Your assembly is complete. Your unit is now ready for use. 
 
The red TARGET logo appears and fades from the screen. 
 
 
 
 


